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BiER No. 1
£ R Bifg = B & % B =
EETES 17,088,711
=S A B =% 1.0 8,832,237
KH A BN = 1.0 8,256,474
HEE 10,681,289
HBRERE = 1.0 918,174
RS ERE = 1.0 6,121,823
—RERE = 1.0 3,641,292
T EMm& 27,770,000
JEHE Tt %S 2,777,000
IEE 30,547,000




B AAER No. 1
2 W B #E | B @ & % W E
=B EEB
EEIEE 8,832,237
BETE #® 1.0 4,724,283
EERHETIE = 1.0 199,720
EfITE = 1.0 646,381
BEIE = 1.0 2,615,640
ZDHTE 7 1.0 1,079,237
BELIE = 1.0 183,305
EREELIE =X 1.0 3,241,370
A D 7% 1.0 866,584
HEE 3,615,641
HBRBE Y 1.0 473,530
BEIE Y 1.0 286,763
ERRHIE 7 1.0 144,565
R TS ® 1.0 42,202
RIS EEE ® 1.0 3,142,111
BETE = 1.0 1,345,465
BEREEIE =® 1.0 1,415,320
R TS R 1.0 381,326
TER{f 12,447,878




B AAER No. 2
2 W B #E | B @ & % W E
KBHEEHA
EEIEE 8,256,474
BETE #® 1.0 4,409,967
EERHETIE = 1.0 189,986
ERTE #® 1.0 594,996
BEIE = 1.0 2,387,730
TDMIE =X 1.0 1,065,387
BELIE = 1.0 171,868
ERBHIE 7% 1.0 3,048,202
A D 7% 1.0 798,305
HEE 3,424,356
HBRBE Y 1.0 444,644
BEIE Y 1.0 267,684
ERRHIE 7 1.0 138,083
R TS ® 1.0 38,877
RIS EEE ® 1.0 2,979,712
BETE = 1.0 1,256,417
BEREEIE =® 1.0 1,372,014
R TS ® 1.0 351,281
TER{f 11,680,830




HMBRMAR (ZAEEEHR) No.

2 W AR~ i& Bl #h& (B @ | € % i
EERHRIE 199, 720
=HL =X 1.0 20, 862
33 =X 1.0 11, 201
BEBERER{TT =X 1.0 42, 857
Bl L—2 B 3.0 41, 600 124, 800
EREISE 646, 381
R Y] m 5.3 590 3,127
Bah 3 RC-40 m 1.1 8,120 8,932
gETtarvoy—+ Fc=18N m 0.4 17,000 6, 800
Ega o )—+ Fc=21N+S m 2.2 17,400 38, 280
avy)— hTER 2 1.0 112, 259
M LER m 1.2 4, 350 31, 320
B SR m 1.2 250 1,800
E W SD295A D13 t 0.2 122,000 24, 400
$5 7% N THA ST t 0.2 46, 000 9, 200
RER
B EMmIT/N-8%5R D13 WM& & 172.0 1,963 268, 836
&R SS4004 v ¥
& EMmITUH-HK Ib M6 TFm&E & 28.0 1,989 55, 692
a9 U—FECT m 5.6 570 3,192
avyy—rBERL m 6.0 1,995 9,570
BRL m 2.1 850 2,295
i) m 2.6 1,030 2,678|35M
EREHRE 2 1.0 68, 000
B®EISE 2,615, 640
11 7 kg | 3.684.0 110 2,615, 640




HMBRMAR (ZAEEEHR)

No.

2 W AR~ i& B = | B @B | £ #8
ZTOMmIE 1,079, 237
FARA27I FERE t=50+150 m 7.8 5,500 42,900
H=1, 8007" ny) B FE
R TSI m 18.1 14, 060 254, 486
2T AB H=1,800 wWHl= ANzil 1.0 88, 700 88, 700
RS L BERAT 300 x 6002 & % 3.0 2,817 8,451
BEKHERE 360 x 360 & 1.0 24, 700 24,700
FR-25vTIE =X 1.0 660, 000
BRIELIE 183, 306
HyE2—1] m 24.5 1,723 42,213
FLE=3E FAI7ILE m 0.7 59, 510 41, 657
a22)—kE2Y (34 m 0.7] 100, 347 70, 242
v b7 AME H=1, 800 m 18. 1 1,030 18, 643
FEMERE 2 1.0 7,447
REMUS T 2 1.0 3,103




HMBRMAR (ZAEEEHR)

No.

4 h 4K~k Bfi| #E | & ®
BERERE LS 3,241, 370

FEEHENL UERx

BHT - S 45kVA = 1.0 2,108,174

BRE G16 F=EH m 12.0 2,459 29, 508

BRE FEP30 18Z% m 3.0 959 2,877

| EBRESE = 1.0 6, 685

TRy X SUS

Heoh U B ERST 200 x 200 x 100 & 2.0 9 712 19,424

IRV N fiRAmERA v
500 x 500 x 2500 & 1.0 302, 340

24¥YU0° 5 b AR EINA v
300 x 300 x 2500 {#& 1.0 207, 090
EM-1E2°

TR BN m 12.0 329 3,948
EM-1E2°

TR FEP™A m 6.0 300 1, 800
EM-1E2°

TR 449 bR m 5.0 329 1, 645
EM-I1E14°

TR FEP™A m 5.0 197 3, 985
EM-I1E14°

TR 449 bR m 15.0 854 12,810
EM-CE2° -2C

F—TJI) BN m 12.0 531 6,372
EM-CE2° -2C

F—TJI) FEPAH m 16.0 503 8,048
EM-CE2° -2C

F—TJI) 449 bR m 25.0 448 11, 200
EM-CE5. 5° -2C

F—TJI) FEPAH m 5.0 850 4, 250
EM-CE5. 5° -2C

F—TJI) 449 bR m 10.0 795 7,950
EM-CE5. 5° -4C

Fr—JI) FEPAH m 6.0 1,290 1,740
EM-CE5. 5° -4C

F—TJI) 449 bR m 5.0 1,207 6,035
EM-CET60°

F—TJI) 449 bR m 10.0 4, 887 48, 870
EM-CET100°

F—TJI) FEPAH m 5.0 7,899 39, 495
EM-CET100°

F—TJI) 449 bR m 20.0 7,594 151, 880

LoV ARESS Y b CET 60E 3 = 2.0 29, 970 59, 940

LoV ARESS Y b CET100E #3 = 2.0 33,577 67, 154

BEI=E = 1.0 122,150 122,150




HMBRMAR (ZAEEEHR)

No.

£ E1 Akt ==Xiv2 = i £ 28
BHRiEIE 866, 584

&y EH

ZKFEES L B ET 1.5%3.5%x2. Om = 1. 210, 883

BEEKI=vY HiRZEE 4

Hust U B BT 0. 4kW = 1. 125, 592

RERBKEE HKEBE 992N = 1. 11, 480
SGP-VD 25A

fHBKE g m 9. 6,318 60, 021
SGP-VD 40A

#HRKE — A% m 6. 9,914 64, 441
SGP-VD 25A

fHBKE 1B ER m 1. 5, 254 5,254
SGP-VD 40A

HKE 1825 m 2. 7,359 14,718
SGP 15A

HHE 2= m 9. 2,847 25,623
SGP(H) 50A

HEKE 2= m 0. 8, 808 4 404
SGP(H) 80A

HEKE 2= m 5. 13, 839 69, 195

H—k# 5K 50A {&l 1. 15, 008 15, 008

HRiE#F 15A {&l 4. 16, 638 66, 552

(5 R4 80A {&l 1. 10, 280 10, 280

BRERE = 1. 13, 255

BEITE = 1. 31,025

HBETE = 1. 88, 965

BYYERL = 1. 20, 188

2K Ew i 1. 29,700




HME AR (KAEEHRT) No.
£ FR Ak ~T ik Bfi) & | &8 M| € % &
EEREIE 189, 986
&L = 1.0 18, 127
BE E2 1.0 9,732
BEBREATT N 1.0 317,327
B oL—> =] 3.0 41, 600 124, 800
ABETE 594, 996
R m 4.8 590 2,832
BEhE RC-40 m 1.0 8,120 8,120
BTarvy)—t Fo=18N m 0.3 12, 500 3, 750
Eggars)—+ Fo=21N+S m 2.1 12, 800 26, 880
a9 ) — b = 1.0 112,070
FTR L B m 6.6 4,350 28, 710
B ERE m 6.6 250 1,650
L3530 SD295A D13 t 0.2 | 122,000 24, 400
SXAH N T AL t 0.2 46, 000 9, 200
EER
B & L7 Uh-85AR DI3 M E X 152.0 1,563 237,576
&R SS400 A wF
B EBITVh-K Wb M6 TFmE ZN 28.0 1,989 55, 692
AV U—Fr2CT m 5.0 570 2,850
avyy—rERL m 55 1,595 8,772
BRL m 2.5 850 2,125
Ry m 2.3 1,030 2, 369[15A
ERERE = 1.0 68, 000
BBIE 2,387,730
M kg | 3363.0 710 2,387,730




HMEANRR (KBEEHFT)

No.

2 W MARST & B #& | B i | £ 28
TN TE 1,065, 387
FARI7I FEHE t=50+150 m 7.1 5,500 39, 050
H=1,8007° ny) &5
Al M ShEmiE m 18.1 14, 060 254, 486
PEPYS: H=1,800 B IVFR 1.0 88, 700 88, 700
ForiRERS L BER{E 300 x 6002 ® 3.0 2,817 8, 451
2 S v A 360 x 360 1.0 24, 700 24,700
FR-45vTIH = 1.0 650, 000
BRLTE 171, 868
hya—4 m 22.5 1,723 38, 767
S FRIFIE m 0.6 59,510 35, 706
avy)—hEDY e B m 0.7 | 100,347 70, 242
*v b7 oRHEE H=1, 800 m 18. 1 1,030 18, 643
RAEMBIRE 2 1.0 4, 846
REMNS B 2 1.0 3, 664




HMEANRR (KBEEHFT)

No.

% h RAR~Ti& Bf| #= i ® %8
EREEISE 3,048, 202
FEHES L U
BT - AR 45kVA = 1.0 2,108, 174
ERE G16 TH m 10.0 2, 459 24, 590
ERE FEP30 183§ m 2.0 959 1,918
ERERE = 1.0 6, 685
TRy o R SuS
Hust L B HT 200 x 200 x 100 1@ 2.0 9,712 19, 424
VRV ftRiamERA v
500 x 500 x 1500 @ 1.0 201, 600
VRV ftRiamERA v
300 x 300 x 1500 ] 1.0 122,010
EM-1E2°
| BB EA m 10.0 329 3,290
EM-1E2°
| ER FEPH m 6.0 300 1,800
EM-1E2°
| ER 45 kA m 4.0 329 1,316
EM-1E14°
| B FEPH m 5.0 797 3,985
EM-1E14°
| ER 9 rA m 12.0 854 10, 248
EM-CE2° -2C
r—J)IL &N m 10.0 531 5,310
EM-CE2° -2C
r—J)L FEPR m 16.0 503 8,048
EM-CE2° -2C
r—J)IL 45 KA m 20.0 448 8, 960
EM-CE5. 5° -2C
r—J)I FEPIR m 5.0 850 4, 250
EM-CE5. 5° -2C
r—J)L A5 KA m 8.0 795 6, 360
EM-CE5. 5° -3C
r—JI) 9 kA m 4.0 1,010 4,040
EM-CE5. 5° -4C
=7 FEPH m 6.0 1,290 7,740
EM-CE5. 5° -4C
r—J)IL 45 KA m 4.0 1,207 4,828
EM-CET60°
r—J) 49 RA m 8.0 4,887 39, 096
EM-CET100°
r—J)IL FEPR m 5.0 7,899 39, 495
EM-CET100°
r—JI 79 LA m 16.0 7,594 121, 504
LOUEAREGSY + CE5. 5-3CE#2 2 1.0 15, 982
LY VEARERT Y CET 60E 8 =% 2.0 29,970 59, 940
L UEARERS Y b CET100E 8 =% 2.0 33,577 67,154
WETS =% 1.0 150, 455




HMEANRR (KBEEHFT)

No.

£ {1 RAR~Ti& Bf| #= i ® 25
BHRiETE 798, 305

iy EH

KR L B EAT 1.5%3.5%2.0m = 1.0 210, 883

BE#HKk1=v k iR S 4

s L B E T 0. 4kW = 1.0 125, 592

REIRKEE BK R ARL VAN F2n 1.0 11, 480
SGP-VD 25A

EKE 2% m 9.5 6,318 60, 021
SGP-VD 40A

faKE — g m 6.5 9,914 64, 441
SGP-VD  40A

BKkE L m 2.0 7,359 14,718
SGP  15A

BmE = m 9.0 2,847 25, 623
SGP(B) b50A

BEKE 7 m 0.5 8, 808 4,404
SGP(B) 80A

HEKE 7 m 5.0 13, 839 69, 195

7—kF 5K 50A 1@ 1.0 15, 008 15, 008

PfEHEFE 15A 1@ 4.0 16, 638 66, 552

i 248 80A 1@ 1.0 10, 280 10, 280

EERE 2N 1.0 14, 636

BWETE 2N 1.0 26, 993

REITE = 1.0 38, 685

BYYERL 2N 1.0 10, 094

ZKEER i 1.0 29, 700




% i =it H @ % H = NO.

MmN | it |i2 [#effia-t] B FF <H ik RS O |H| A QR MEE- BRI | T e - g an]  — G A XERE
i | B dhish| 5| £%5 (i 5| £ %5 [No| £%5 [N| £ %8
RE& |B|HL X | 20862 1 20,862
BE x| 11201 2 11,201
BEEREmERATT x| 42857 3 42857
ByX /s L— =] 41,600
ZiE 1R m3 590 Z | e 590
BAihZE RC-40 m3 8,120 4 8,120
ETavy)-+ Fe=18N m3| 17,000 £45| 98| 17.000[€45 |111] 17,000
HHEv)Y-b  Fo=21+SN m3| 17,400 248 | 98 | 17.400[%48 | 111] 17400
)Y -MTER [ 112,259 5 112,259
FTHR L B4 m 4,350 % |#14] 4350
BPERE m 250 % |4 250
R8%FF D13 SD295A t | 122,000 £ 17 | 123,000|% 21 | 121,000
A THASL t 46,000 % | 5| 47000012 [@11] 45000
HEMITUN-8kEH DI3FE | & 1,563 AF 3275 1563
HEEITUNI-F M MO6T | & 1,989 A%k |3275 1,989
BRL m3 850 £ |2 850
ERERE X | 68000 % | 2| 68000
&L a5y m 1,030 1,030
FRavy)-t& T m 570 £ |h22 570
avy)y—hrEREL m 1,595 8 1,595
F0it |TA77MEREE  50+150 m 5,500 % |a402] 5500
#yp71v2  H=1, 800 m 14,060 A5k |1396] 14,060
71y H=1,800f@BHZE |»F 88700 £ |529] 91,700|2 |639| 85800
FoARES L BET ® 2,817 6 2,817
HEK 35 & 8] 24700 £ |395| 24700




B =% B M # A = NO.

thffiNo. | i1 i2 |feffia-t] & B SHiR R (B 3RA QRMER- B eemTem maen|  — SR XERIE
| B 1 il 5| @48 || B £ v 28 [N| £

EiRL [hy5-91] m 1,723 7 1,723

A -pED Y m3 | 100,347 9 100,347

TAITh MR E m3| 59510 10 59,510

fyb71vAiEE H=1, 800 m 1.030 11 1030

FEMBIRE Fa 7.447 12 7,447

REMLSE = 3,103 13 3,103




B 1

ZHL AN 1 =5

— R
£ 20862
_ - By 1XAHYEHE {2 F 254 __Al-1-8
% I Wk T % [ ) = il = 28 18 £

INRRE 19.75m

AL 0.018 X 19.75 A | 0.356] 28,600 10,181

TEEEE 0.016 X 19.75 A | 0.316] 20,600 6,509

(20+30)/2
ZD1th 35 X 25% pau 1.00 4172

=]

20,862




B 2
EBHE AN 2 =5
— R
£ 11201
_ _ By 1AHYEH {35 FA 25 b _A1-1-9
% T - & Wk T % [ ) = il = 28 18 £
NGRS 19.75m & 1=Y
RS- 0.022 X 19.75 A | 0.435| 20,600 8,961
(20+30)/2
ZDith 5 X 25% = 1.00 2,240

E 11,201




B 3
EBEBRERAST RFE 3 =
— R
42857 H
_ _ B I AYUEH 1 S __AI-1-9
% I Wk T % [ ) = il = 28 18 £
NGRS 19.75m & 1=Y
BEX8 0.11x19.75 A 2.17| 15,800 34,286
(20+30)/2
ZD1h F5 X 25% FaN 1.00 8,571

=]

42,857




=] .

BAthE ARAEE 4 =

— R
£ 8120 M
_ _ B Im3BYHREH 155 FA &t __A1-3-2
2z I Wk T % [ ) = il = 28 1 =

R BE A
P13121E P186 212

BAERA RC-40 m3 | 1.10] 2,700 2,970 2,800 2,600

S A | 0.20] 20,600 4,120

(20+30)/2
ZD1th 35 X 25% pau 1.00 1,030

=]

8,120




B 5

a9 —hTER AN (i) 5 =

- -
ot VA R W (iiTE3
* 112,259
_ _ ‘ ‘ B —ANUHEE {38 FA 2544 _
% ¥h 5 & A SEAEINnES ERGENE T A

[ERT VN BEEH
AN BP10

‘Tavhy-p 18N m3 | 0.38] 2050 779 2050
AAMRIEP10

B} 21N m3 | 221] 670 1,480 670
AAMRIEP10

KV EiE =) 1.00/110,000] 110,000 110,000

it 112,259




B 6
FiRERS LB RS AN (i) 6 =
- -
ot VA R W (iiTE3
* 2817 H
_ _ : BT 1#53£|L)¥§E Eﬁﬁ%b:m—g—s@%ﬂﬁ—ﬁﬁi)
% i - 18 A SEAEINnES ERGENE T =
s L E2-1-1Z#R #HZD40%
RET 0.06 x 0.4 A 0.02| 29,600 592
E{t
RET A 0.06| 29,600 1,776
(15+23)/2
Z D4 55 X 19% = 1.00 449
it 2,817




B 7
hys—4] KA 55 7 =
. -
ot VA R W (iiTE3
* 1,723 M
_ _ B ImAUEH 138 F 25 __A2-2-9
% i - 18 A SR E S R T A
FER TN EEEH
oY T A 0.05| 25,900 1,295
P805 P282
) =thyEER FE) 7L—FEF20cm =] 0.05| 2,100 105 2,100 2,100
(20+30)/2
Z D4 55 X 25% = 1.00 323

it 1,723




B 8
avHy)—bEBREL KA 55 8 =
. -
ot VA R W (iiTE3
* 1595
_ _ B muUEH {3 A 4 __A2-2-5
% i - 18 BT Z B =8 Mm%z %8 T =
HEEXS A | 001] 20600 206 __
FER TN EEEH
oY T A 0.04] 25,900 1,036
P804
Ewd\< _ =| 0.04| 400 16 400 -
G ES P805 P283
T EMEEESE 29)a—-I0Y U$5.0m3 = 0.01] 2,750 27 2,700 2,800
(20+30)/2
Z N4 55 X 25% = 1.00 310

it 1,595




B 9
A -1E2YEE) AN A 9 =
- -
ot VA R W (iiTE3
* 100,347 H
_ _ B 1m3BUEH {3 A4 __A2-2-1
% i - 18 A SR E S R T =
HRIEXS A 2.70| 24,200 65,340
EEEXE A | 068 20,600 14,008 L
FEREN EEEH
BET A 0.03| 29,000 870
P791 P262
&3 m3 | 008 342 27 335 350
P779 P262
TEFLY ke 0.02| 1,650 33 1,650 1,660
(20+30)/2
Z N4 (F5+#4) x 25% = 1.00 20,069
it 100,347




B 10

TFRI7INERERE AN ARk} 10 =5

- -
ot VA R W (iiTE3
& 59,510 9
_ _ _ _ B Im3HUIEH i A A2-2-1 2 FGERA)
% i - 18 A SR E S R T =
HRIEXS A 1.62] 24,200 39,204
EEBEXE A | 0.408| 20,600 8,404
(20+30)/2
Z D4 55 X 25% = 1.00 11,902

it 59,510




—
—

b DI AEE AN (i) 11 =
- -
ot VA R W (iiTE3
& 1,030 M
_ _ B 1mIYEE EAS#: A2-2-304 F(EE FHhifE)
% ¥h 5 & A SR E S R T =

H=1,800&Y 1.8m/m
EEEXSE 0.02 X 1.8m A 0.04| 20,600 824

(20+30)/2
Z D4 55 X 25% = 1.00 206

it 1,030




B 12
FEMERE A i) 12 5
. -
ot VA R W (iiTE3
= 7447 M
- _ ‘ ‘ B —ANUHEE 138 F 25 .
% ¥h 5 & A SR E S R T A
EXGES FER TN EEEH
h°51.35m3
T AI7IVNAZE R m3 | 0.66] 4695 3,098
A9 —bH 5B m3 0.69| 6,304 4,349
it 7,447




B 13
EEMUSE AN i) 13 =
ot VA R W (iiTE3
* 3103 M
_ _ ‘ B —ASYHH {3 FA 454 .
% ¥h 5 & BT Z B =8 Mm%z %8 T =
T A7 I)LA S5 m3 | 066] 2350 1,551
av)—kHS 05 m3 0.69] 2,250 1,552

it 3,103




Hpgs b = $ ﬁﬂj BE Fﬁ Z=§ NO.
fRffNo. | i1 |2 [RI-F] & FF ~HiE BAiE (B &A QXM R RemT - mgy]  — AR XERE
fi| B {f ihigh| B | £%5 |Mhig| B | £ %5 [No.| £ %8 |No| & %8

=il BR |FHEHERS LEERT45KVA X [ 2108174 14| 2,108,174
) EIRE GI6FEH m 2,459 15 2,459
BIRE FEP30IEE% m 959 16 959

EREEE % 6,685 17 6,685

77 MR vhAER S L B ER AT 63 9,712 18 9,712

24%9Y29° 4" 74500 % 500 x 2500 8| 302340 19] 302,340

94494° 5° 71300 x 300 x 2500 18 | 207,090 20| 207,000

T EN-IE2° B m 329 21 329

B EM-1E2° FEPA m 300 22 300

TR EM-IE2° 549 A m 329 23 329

B EN-1E14° FEPH m 797 24 797

TR EM-IE14° &4 R m 854 25 854

f-7" ) EM-CE2® -2CE&R m 531 26 531

7-7'% EM-CE2° -2CFEPE m 503 27 503

7-7' b EM-CE2° -2044% FAR | m 448 28 448

7-7' % EM-CE5.5° -2CFEPP m 850 29 850

5-7'% EM-CE5.5° -264% kM | m 795 30 795

7-7' % EM-CE5.5° -4CFEPP m 1,290 31 1,290

57 % EM-CE5.5° -4C4 % kM | m 1,207 32 1,207

7-7'h EN-CET60° 44 hE m 4,887 33 4,887

5-7'% EM-CET100° FEPPY m 7,899 34 7,899

57 b EM-CET100° #% kR | m 7,594 35 7,594

LY AR SRS Y FCETOmE| 2 | 29,970 36 29,970

LS EARRSE v RCETIOMES| =t | 33577 37 33,577

WMETE £ | 122,150 38| 122150




B 1
FERI LB RS- R 45kVA  YEfig AR 14 =
- -
— L3R
&= 2,108,174 F4 ITESHBEERIIO
_ _ By —XIUHEE 18 515 __P4gi
% T - @ 1® Wk o [ B e (i = %8 i z
ERFES ERET BEAN
[ERSY B BT (X 1.7) BT X1
it g A | 26.86] 24,420 655,921 24,420
[ET 3 1-44% | A | 18.56] 22,200 412,032 22,200
AR T v’ 1448 | A | 10.00| 25,400 254,000 25,400
EREXS A | 10.71] 20,600  220,626| 20,600
Sl B
i g A 3.20| 24,420 78,144 24,420
ET A 4.20| 22,200 93,240 22,200
(19+27)/2
ZDith J5 X 23% = 1.00 394,211
it 2,108,174




B 2
S EREGI6 AR 15 =
- -
— =
* 2459 M TESHEERIIO
- E— . ‘ B imBVEE ERSH P39I
% ™ - i 18 FoIRT 2 | | R o] ff] & %8 1 I
Hifix ERL N Rt
P570 P689
EiNEREGI6 m 1.10] 320 352 319 322
118 & & x0.25 = 1.00 88 88
MR # % 0.05 = 1.00 22 22
ET 0.060 X 1.2 A | 0072| 22,200 1,598 22,200
(20+30)/2
FDith % X 25% = 1.00 399
it 2,459




B

3
=

EHREFEP30 Rl
- -
— (Ll =
&= 959 AHEETESEHMBERSE
- - Bt 1mIURE 138 F 4 $i} _E-2-37
% th o i 1® TR T 3% BB =l E (= %8 i £
Hifi & 2% Wi RA AN
P690

URAHEE & pktiEE FEP30 m 1.05] 217 227 211
RRELT & X0.04 3 1.00 9 9
A H # % 0.01 =K 1.00 2 2
ET A | 0026] 22,200 577 22,200

(20+30)/2
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BIRE GI6FEH m 2,459 72 2,459
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BREEE = 6,685 74 6,685
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h=7"0 EM-CE5.5° -4CH% FA| m 1,207 90 1,207
§-7") EM-CET60° &4 FA| m 4,887 91 4,887
£-7") EM-CET100° FEPA | m 7,899 92 7,899
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LY VAR SRS FOES. 5-3CHH | = 15.982 94 15,982
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AR ft
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Lo AR $E# v hCES.5-3CE R [ 94 =
- . -
— iz
& 15982 M TEHHERRII0
- _ B —ANUHEE {55 F 25 __P 412
%t - w12 TR T % || =l (] & %8 T 3
RGeS ERTT BAEH
P568 P682
LoV EARERT VL CE5.5-3CH 4] #2 | 3.000[ 3570 10,710 3,220 3,920
BT 0.19 A_| 0.190] 22,200 4218 22,200
(20+30)/2
ZDith % X 25% % | 1.00 0 1,054

15,982




=] 25
LIV AR R Y NCET60E (R A il 95 5
L -
— R
£ 29970 ITEHSHEEBRII0
_ _ =-Fivd —j‘.%'ﬁﬁ% 5 A _P412
2t m 1= A SEAEINE T EREIE A 3
XS R T ST
P568 P682
LoV ARy CET60M# #2 | 3.000[ 5,180 15,540 4,610 5,760
[ET 0.52 A | 0.520] 22200 11,544 22,200
(20+30)/2
ZDith 75 X 25% Fan 1.00 2,886

29,970




B 26
Lo iF A #E# v b CET100E % AN 96 5
L -
— s
& 33577 M IESHEBRII0
_ _ By —A3UHEE {3 A 25 4 _P412
Z T - i@ IR 3% | fu| o) | f = &8 Tl e
S ERT MAAH
P568 P682
LoV ARy CET100M #2 | 3.000[ 5,180 15,540 4,610 5,760
ET 0.65 A | 0.650| 22,200 14,430 22,200
(20+30)/2
Z Dith 35 X 25% ® | 1.00 3,607

33,5677




B 27
BEIE(ER) KR A il 97 5
L -
— R
£ 150,455 ANHBRETEEIE2-1-7E2-1-2
_ _ B imBYEH _ ERASH E1-1-7
%t - & 1% IR % [ B ) =18 W = %8 Fa =
EXGED R BRAH
0.0020 X 5.0
EM-IE2° BR A | 0010] 22,200 222 22,200
0.0020 X 0.9
EM-IE2° FEPIA X 4.0 A | 0007] 22,200 155 22,200
0.004 X 0.9
EM-IE14° FEPI x 70.0 A | 0252] 22,200 5,594 22,200
0.013%x0.2
EM-CE2° -2CE&R X 5.0 A | 0013] 22,200 288 22,200
0.013x0.2
EM-CE2° —-2CFEPA x09%100 | A | 0023| 22,200 510 22,200
0.021 x0.2
EM-CE5.5° -2CFEPH x 0.9 x 3.0 A | 0011] 22,200 244 22,200
0.026 X 0.2
EM-CE5.5° -3CFEPH x09%x660 [ A | 0.309] 22200 6,859 22,200
0.030x0.2
EM-CE5.5° -4CFEPI x0.9%5.0 A | 0027] 22,200 599 22,200
0.082 x 0.2
EM-CET60° FEPM x0.9x1320] A | 1.948] 22,200 43,245 22,200
0.112x0.2
EM-CET100° FEP[A x0.9x1370] A | 2.762] 22,200 61,316 22,200
0.012x5.0
EEE G16 A | 0.060] 22,200 1,332 22,200
— (20+30)/2
ZDith 55 X 25% = 1.00 30,091
it 150,455




EES LT KAE E ﬁﬁ ﬁé Fﬁ % NO.

fRffiNo. [ i1]i2 [fRfEa-M| & B Tk g (E| KA QRMER - R | s em anas] — RS XERE
fir| B {f dhish| B | B8 [Mhisk| B | £ &5 |No.| £ % |No.| £ %

s e | ZKEERS L BEST | 210883 98 210,883

k= y tEYSLERM| R [ 125592 99 125,592

RER K E U E X | 11480 100 11,480

#akE SGP-VD25A FEH | m 6,318 101 6.318

#kE SGP-VDAOA —#% [ m 9,914 102 9914

#A7K%E SGP-VD4OA 1EEE | m 7,359 103 7,359

AmE SGP15A T m 2,847 104 2,847

HEKE SGP(E)50A FEH| m 8808 105 8.808

HekE  SGP(H)80A FJH| m 13,839 106 13,839

#— k$ 5K 50A @ | 15008 107 15,008

BiE#EFE  15A @ | 16,638 108 16,638

[HER48 80A @ | 10280 109 10,280

BLEZE | 14636 110 14,636

WEITSE x| 26993 112 26,993

REILE X | 38685 111 38,685

R YIER L £ | 10094 113 10,094

SOKIE AR | 29,700 114 29,700




B
oK RS LB ERT KEE KA
- -
ot YR R W fiiTE3
® 210,883
_ _ B —ABUHEH {5 FA 2>
% th - 1% TEIRT 3% B % & & fm | & %8 _
XS FERE TN
1.5x3.5%2.0(10.5m3)
R EHEET 3.97+3.97 X 0.7 A 6.75| 25,400 171,450 25,400
(19+27)/2
Z D1 55 X 23% z* 1.00 39,433
it 210,883

Jjn| —




B 2
BEFE/KI =y LB RS 0.4kW K Af 28 99 =
- -
ot YR R W fiiTE3
® 125592 M
_ _ i —ABYHEHE {35 F 25 4 __Mi-1-74
Z W - w1 2 SIS IEE AR & C
XS FERE TN HEEEH
Rt T (1.97+1.97x0.7) x 1.2 |BiiRZEE A | 4.02| 25400 102,108 25,400
(19+27)/2
Z D1 55 X 23% z* 1.00 23,484
it 125,592




IRERHEKEVIE
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A A 58 100 =
- -
ot YR R W fiiTE3
& 11,480 [
_ _ By 1mIYEE EASHE  M2-1-2
% m = 2 SIS IEE AR & C
XS FERE TN wEEH
RET 40ALT) BT 5t A 0.41| 22400 9,184 22,400
(20+30)/2
Z D1 55 X 25% z* 1.00 2,296
it 11,480
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#KE SGP-VD25A FEH i 55 101 =
- -
— L SR
& 6318 M
_ _ B ImBYREHE {35 FA 24 __BERSHEYPI
% th - 1% TEIRT 3% B % & & fm | & %8 i ZE
ETES 2mim mEAEH
P661 6,520/4
EES A=V J#l%E SGP-VD 25A m 1.05| 1,630 1,711 1,630
HEF & X045 = 1.00] 769 769
EEM & x0.20 FaN 1.00] 342 342
XEEY & x0.08 = | 1.000[ 136 136
RET A | 0.120] 22,400 2,688 22,400
(20+30)/2
Z Dt F X 25% FaN 1.00 672
&t 6,318
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#KE SGP-VD40A —fig i 58 102 5
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— L SR
® 99014 M
_ _ B ImBYREHE {35 FA 24 _BEAERSH
% th - 1% TEIRT 3% B % & & fm | & %8 i ZE
ETES 2mim mEAEH
P661 9,490/4
EES A=V J#%E SGP-VD 40A m 1.10| 2372 2,609 2,372
HEF & X 0.60 = 1.00| 1,565 1,565
EEM & x0.20 FaN 1.00] 521 521
XEEY & x0.08 =K 1.00] 208 208
RET A | 0.179] 22,400 4,009 22,400
(20+30)/2
Z Dt F X 25% FaN 1.00 1,002
&t 9,914
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#i/KE SGP-VD40A IPEEE 1 58 103 5
- -
— R
& 7,359 M
- - B imuYHH ERSH  Mi-1-9
%t o- o i® AR i [t | & |8 fm | & 28 i - S
H{fiz& FERTL mEAEH
P661 9,490/4
IRESA=2J 8% SGP-VD 40A m 1.05| 2372 2,490 2,372
#F & x0.35 = 1.00| 871 871
EEM & x0.20 FaN 1.00] 498 498
RET A | 0.125| 22,400 2,800 22,400
(20+30)/2
Z Db F5 X 25% FaN 1.00 700
&t 7,359
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#hmE SGP15A FEif i 58 104 5
- -
— R
& 2847 M
— - Bl ImYUHRHE {3 A 4 __Mi1-1-34
%t o- o i® AR i [t | & |8 fm | & 28 i - S
H{fiz& 2mim mEAEH
P654 1,880/55
|BCE AR R E () 15A m 1.05] 341 358 341
#F & X 0.50 = 1.00] 179 179
EEM & X 0.05 FaN 1.00 17 17
XEEY & x0.15 =K 1.00 53 53
RET A | 0.080| 22,400 1,792 22,400
(20+30)/2
Z Dt F X 25% FaN 1.00 448
&t 2,847
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HEKE SGP(EH)50A FEH! A i) 105 5
- -
— L SR
& 8808 M
- - By 1mAYEH ERSHE  MI-1-22
% th - 1% TEIRT 3% B % & & fm | & %8 i - S
ETES 2mim REAEH
P654 8,010/4
EoE AR R E (5)50A m 1.05| 2,002 2,102 2,002
HEF & X 0.50 = 1.00[ 1,051 1,051
EEM & X 0.05 FaN 1.00] 105 105
XEEY & x0.15 =K 1.00] 315 315
RET A | 0.187] 22,400 4,188 22,400
(20+30)/2
ZD4h F X 25% K 1.00 1,047
&t 8,808
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HEKE SGP(EH)80A FEH! A i) 106 5
- -
— L SR
® 13839 M
_ _ By 1EXVES ERSH  M1-1-22
% th - 1% TEIRT 3% B % & & fm | & %8 T - S
ETES 2mim REAEH
P654 13,700/4
EoE AR R E (5)80A m 1.05| 3,425 3,596 3,425
HEF & X 0.50 = 1.00| 1,798 1,798
EEM & X 0.05 FaN 1.00 179 179
XEEY & x0.15 =K 1.00] 539 539
RET A | 0.276] 22,400 6,182 22,400
(20+30)/2
ZD4h F X 25% K 1.00 1,545
&t 13,839
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7 —k$ 5K 50A RIGE 107 =
- -
ot YR R W fiiTE3
® 15008
_ _ X iv2 1{IEI;§U$§§ 55 A 2 __Mi-1-52
Z W - w1 2 SIS IEE AR & —
XS FERE TN HEEEH
P699 P834
F—k$ 5K 50A e 1.00| 10,600 10,600 10,500 10,600
RET A 0.16] 22,400 3,584 22,400
(19+27)/2
Z D1 55 X 23% z* 1.00 824
it 15,008




B 11
HHEHEF 15A KA 108 =
- -
ot YR R W fiiTE3
® 16638 M
_ _ X iv2 1{[3!;%1%%% 55 A 2 __Mi-1-53
Z W - w1 2 SIS IEE AR & —
XS FERE TN wEEH
P851
2LETJI)ILTaA bk 15A @ 1.00| 1,760 1,760 - 1,760
RET A 0.54| 22400 12,096 22,400
(19+27)/2
Z D1 55 X 23% z* 1.00 2,782
it 16,638




B 12
BHR#E 80A KA ZE 109 =
- -
ot YR R W fiiTE3
® 10280 M
_ _ By —AMVEEH &R H _ Mi1-4-3
Z W - w1 2 SIS IEE AR & —
XS FERE TN wEEH
— P868
BhR#8 80A @ 1.00| 2,290 2,290 — 2,290
RET A 0.29] 22,400 6,496 22,400
(19+27)/2
Z D1 55 X 23% z* 1.00 1,494
it 10,280




B 13
e FE K 110 =
- -
— R R
® 14636 [
_ _ _ By —AMVEEH &R H __Mi-1-63
Z_Th - 18 ToIRT o2 [l |2 & | (] & %8 B __

EXGES FERT VAN BEEH
fARE15A L=9m P197 P251
§HIEDRA b 0.023 X 9.0 ke | 0.207 577 119 615 540

P197 610/0.96 P252 480/0.98
FILS=9 L_RA2k0.014%9.0 ke | 0.126 562 70 635 489
ZET 0.027 X 9.0 A | 0.243| 28,100 6,828 28,100
(18+26)/2
ZDith 528 x22% = 1.00 1,543
HEJKE50A L=0.5m P197 P251
IvFH9TS54<—0031%05 ke | 0.016 747 11 815 680
P197 P251
§HIEDHRA B 0.031 X05 ke | 0.016 577 9 615 540
P195 470/1.25 P254
RAERAUb 0.053 X 0.5 ke | 0.027 383 10 376 390
BET 0.030% 0.5 A | 0015| 28,100 421 28,100
(18+26)/2
FNDith &R x 22% = 1.00 99
KRAR—T ~f5id




B R A i) =
- -
— R R
® =
_ _ i —ABYHEHE 55 A 2 __Mi-1-63
Z T - i 1@ ToIRT o [ [ & |5 fm | & %8 B -
EXGES FERT VAN BEEH
HEJKE80A L=4.0m P197 P251
IvFIHTS54T—0.048 X 4.0 ke | 0.192 747 143 815 680
P197 P251
EIEHRA Uk 0.048 X 4.0 ke | 0.192 577 110 615 540
P199 470/1.25 P254
RERAUb 0.078 X 4.0 ke | 0312 383 119 376 390
ZET 0.037 X 4.0 A | 0.148| 28,100 4,158 28,100
(18+26)/2
ZDith 52 X 22% = 1.00 996

it 14,636
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WETE ARk} 112 5
- -
— LRl T+
® 26,993
_ _ i —ABYHEHE e ey _ M2-4-14h
Z_Th - w18 FOIRT o g % i [ fm | = %8 & 5
Hifz& FERTL HEEH
[=30m [0.120X0.3X BREL
HKERE 25A FTEH 3.0 A | 0.108| 22,400 2,419 22,400
[=0.5m [0.179X0.3X
HKERE 40A —f8 0.5 A | 0.027] 22,400 604 22,400
[=40m [0.125X0.3X
K ERE 40A 1S 4.0 A | 0.150| 22,400 3,360 22,400
=9.0m |0.080%0.3X
HHERE 15A B 9.0 A | 0.216] 22,400 4,838 22,400
[=0.5m |0.187X0.3X
HEIKERE 50A FEH 0.5 A | 0.028| 22400 627 22,400
[=25m |0.276 X0.3 X
HKERE 80A EH ~ 2.5 A | 0.207| 22,400 4,636 22,400
1H\R
HEK B Mgk 50A 023x03x1[ A | 0069]| 22400 1,545 22,400
L=3m FRELT
RIRHE 25A Est 0.019x3.0 A | 0.057| 25,700 1,464 25,700
FOrT
0.032% 3.0 A | 0.096] 21,900 2,102 21,900
(20+30)/2
Z D1t F5 X 25% X | 100 0 5,398
&t 26,993




B 16
A A 58 111 =)
- -
ot YR R W fiiTE3
® 38685
_ _ By —ABYEH ERSH  MERBY—a7L
% m = 2 SIS IEE AR & 2
XS FERE TN wEEH
PR R T BB E R IFEV 1T IP345
EBoEH 25A m 450 5,280 23,760 5,280
PR R T BB E R IFEV 1T IP345
E5—A% 40A m 250 5,970 14,925 5970
it 38,685
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ASE 113 =
- -
— R
& 10094
- _ i —ABYHEHE {35 FA 24 _ Mi1-1-71
%t o- o i® AR i [t | & |8 fm | & 28 i - S
HifF* [ER 7N mHEEH
05X 0.5 X 3m ERFES
BYY  AD (0.75m3) 0.75%039 | A | 0.29] 20,600 5,974 20,600
0.5x0.5 X 3m LTEEXE
HEREL AR (0.75m3) 0.75%x026 | A | 0.20] 20,600 4,120 20,600
&t 10,094
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SZIKIEER Al 55 114 5
- -
— L SR
® 29,700
_ _ B —ALUBEH {35 FA 24
%t o- o i® AR i [t | & |8 fm | & 28 i —
ETES 2mim mEAEH
1.5x35x%x20 P928
ZKIEER (10.5m3) i 1.00] 29,700 29,700 29,700
&t 29,700






